EARAROREIERT —IN—BISTH—F 20235128238 (1) @78

I TIIKEE JG1 UYSREEIRLE (ER) T2 BRI
[AE%] 17 :66,000,000 § ~ 237&:26,000,000 . 37 :17,000,000 @ . 437 :9,900,000H  53&:6,600,000 F
B (%S RS M ML BF (FB) |94L (EZ) | @BIRG | k3F |SEH | AK | #F | A6 FE) / BE / £ES
-, BE— : -3-1- - B )
1) 3| Y=oy 58T 3.9 136 1 ?_126) A o5y K057 - 5947
Rid=IVRYwD BRARI—T I EvILyRT7—L
— s, = ey AR Z -1-2- - BAE (5
217l 9| = /57— #7 63%@ ¥ 4.(?8).6 1-1-2-2 | 13.6 3 5)(:1) Em;ﬁg%ﬁ)
RIN—EYIv— B:Z¥/eF+7 ke
—u B . A _ A 5
31111 IJ072I/b "4 %%XB 4'613'6 SRR ! ‘g? Eg§% o
R:FIVUISvT B:O5Uxvb E ]
4 A PEC 6 ggléﬁ% 4:6”)'5 2-2-2-3 |13.7| - | 6 | 520 gmgﬂz =)
. 5, 3
RIN-HIK B MESFRTAT % | isms
sl 4 V1ROV F+ # 5 | Bad 4:{12).0 4-4-55 [13.8| — | 2 | 468 itﬁzl%'; (=)
. 3 Sl
R:O—RKAFO7 B:7 RYAVHTUF O TEsnor-1
6l5|5|FrvvoO—n— €y 7 ;-%;E%iﬁ (4:42.43 8-8-6-6 [13.8| — | 5 | 484 %Ia%i (EH)
- 2172 3 i
RiFVvvB/F+ BT —N -6) HEARI v b
71811 NARILLA =2 Gl g’%@’ﬁ ?2412/28) 110108 3.8 = / (4_1:) E(?;)Rﬁi(ffb ROST 35747
RIAFAI=)LN &IV TU— HHRHPRIS
8 7| % E—a—LA 4 5 33\4%7J[I9Ei< 61:43.(; 9-9-8-9 |13.8| — 8 530 @%ggz (€3:9)
- 1172 ) |H
R:FRF BTy hTA—Y (-6) AL %E!'J
95| 6| FHNYT [B] w8 5P N AL R fé E(E)%@J%E)—Tw—vaj‘wm
RFAWNITFY— BroAVF1—El BERSY K
1 c PR AR PARY "7 %Ea%% 4:(443.7 10-11-11-10{ 13.9| = | 9 | 460 i%%?ﬁ €St
5 4 il
RIFVINANRAN B:AYOIUTPY O Vo5 5971
1lel N—vyvIr=— [B] T 6 | BBmA (4:45.3) 12-12-12-12[ 13.9 | = | 11 | 470 %ﬁﬁg%ﬁlg—j )
- . 3172 s *U—LT37
RIN=YIS54 B:I5UxRvb C10 | Tnmis
1217 10| XA RIT 7 v — G Rl (43415/29) A e B (4_242) i(;gﬁj(??)u\y ROST 5747
RiAFAI=)VN BIRERSSvVa EvILy RT7—L
@91 1L
£B0 53.1-39.8
NavIA L

@ J1—JF—@BIRNI

13—F— | 9-2-3=4-1-10-6-5-7,8,11-12
23—F— | 9-2-3-4,1=10-6,5-7-11,8-12
30—3— |3-(9.2)=1=4-(5,10=(6.7)11,8=12
43—F— | 3=9-2-1=4-5-10-11,7-8,6=12

@ ILRE
& s 3 200 | | DA R 3-9 370 | | # & 3-7 790/ | | 3EE 1-3-9 2,160MH
& B 3 120M 1-3 390 | | &5 &= 3-9 780 | | 3:&=E 3-9-1 5,590
9 200M 1-9 0| | B & 3-9 1,090
1 230M

ABIC OV TRUTEREERRODDZE. THRIIZEL.



